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PART — A
Answer any FIVE questions in about 75 words eac (5x4 =20 marks)

What are the functions of statistic
When do we use Pie diagra
Distinguish between primary data and secondary.

. What are the advantages of Arithmetic me

1
2
3
4. If the mean value is 25 and standard deviationfiscbout the value of coefficient of variatic
5
6. What is the principle ofminary least squares

7

. Give any 2 uses of index numb:

PART — B
Answer any FOUR questions in abot 300 words each: ( 4x10 =40 marks)

8. Represent the following data by a simple Pagrém

subject micro macrc statistics econometrigsmaths computer
Number of | 65 60 40 30 50 25

class hours

/semester

9. Calculate the mean and standard deviation fhanridllowing date

value 90-99 80-89 70-79| 60-69] 50-59 40-49 30-39
frequency| 2 12 22 20 14 4 1
Calculate the Harmonic mean daily income of waskarthe marke

10. There are two sets of 2 figures each and gemmetric means are 15 and 12 respectively. i@
combined geometric mean.

11. Explain the component$ @time serie:
12. Calculate the coefficient of correlation betwéeand

X 6.9 8.5 5.8 8.6 9.6 8.0 9.7
Y 2.9 3.8 6.5 2.3 5.5 3.5 3.2

13. Compare and contrast between correlation eqreéssion analysi




14. Estimate the trend equation by OLS for theofelhg data:

year | 2006/ 2007 2008 2009 2010 2011 2012
crime| 35 42 44 48 46 49 51
PART — C

Answer any TWO questions in about 900 words each: (2x20 =40 marks)

15. Explain the importance of statistics in ecormamalysis and business decision making.

16. Calculate the Karl Pearson’s coefficient cfwskess.

Class

300-
400

400-
500

500-
600

600-
700

700-
800

800-
900

900-
1000

1000-
1100

1100-
1200

Frequency

14

46

58

76

68

62

48

22

17. Estimate both regression equations:

Yi

20

26

29

30

25

18

26

35

35

46

Xi

25

28

30

32

35

36

38

39

42

45

18. Calculate fisher’s ideal index number aralp that it satisfies Time reversal and
Factor reversal test.

( QUANTITY ) ( PRICE )
Commodity 2000 -2001 2011 -2012 2000 — 2001 20012
A 40 50 4 5
B 64 80 8 9
C 70 70 10 10
D 10 16 2 4
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